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(LEVELT) (LEVEL2) (LEVEL3) (LEVEL4) (LEVELS) B | ®E BE |5

EihEE EEERT |2ARBREI | AJOKRE m2 1000 15492.0 15, 000

B E Ny RAA FRE#HR m2 1000 71737.0] 72,000

HEHBRE B m2 1000 41260.0] 41,000

Z A m2 1000 | 131947.2[ 132,000

AEPBEL  |EANE (FH)  |#mNAH=1. onkst m2 | 100 3994.0 4,000

EABE (FiE) RN AH=2. Omp m2 10 340.0 340

EARTE (EW) ASINAH=0. 3mpa st 73 1 44.0 40

BANE (W) ASINAH=0. 6mp st Lz 1 58.0 60

EARHE (E¥) ASINAH=0. Impi 5 ¥ 1 34.0 30

HIEWE HEHIAR=0. Smp 5 m 10 420.0 420

4IEWE HEHAH=1. Omp 51 m 10 413.0 410

4IEWE HEWNIAH=2. Ompg 51 m 10 457.0 460

EAREKEE BRIEZEAHC=300m L60cn | AR 1 8.0 8

EAEE EEERERIC=150ms E30om | A 1 4.0 4
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EAREHEE SEFEIREMHC=30cmELE60cm | AR 1 28.0 28
EAEE SEEERERIC=600msL E90on | A 1 7.0 7
BABYE i I I 1.0 1
EAERIE #+3E4#0=30cmizL k- 60cm N 1 4.0 4
EAREEE BARIEEHC=30cmELE60cm | AR 1 3.0 3
S C s m2 10 258.0 260
BEEET ;@Ehﬂﬁﬂ:ﬁumﬁ x 10 600. 0 600
WMCLEE x 1 52.0 52
BRI NGB =] 1 6.0 6
AR B 1 2.0 2
nsT HETERTER = 1 28.0 28
HETERZFLS t 1 52.17 53




